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~29 |30~39 |40~49 | 50~59 | 60~69 | 7T0~79| 80~ | AFF(N) | LK (%)
Al 0 38 135 138 79 9 1 400 22.6
B2 1 11 153 397 515 201 43 1, 321 74.6
C 0 0 2 5 17 9 8 41 2.3
D 0 0 1 2 5 1 0 9 0.5
Z2BB(N) 1 49 291 542 616 220 52 1,771 100. 0
AT RAEEN) 1 11 156 404 537 211 51 1,371 77.4
BT RE (%) 100 22.4| 53.6] 74.5/ 87.2| 95.9] 98.1 77.4
<>
~29 |30~39 |40~49 | 50~59 | 60~69 | 7T0~79 | 80~ | AEF(N) | LK (%)
Al 1 31 125 165 81 18 1 422 28.0
B2 0 5 76 365 401 190 40 1,077 71.5
C 0 0 0 2 3 0 2 7 0.5
D 0 0 1 0 0 0 0 1 0.1
ZE (N 1 36 202 532 485 208 43 1,507 100. 0
AT RAEE(N) 0 5 77 367 404 190 42 1,085 72.0
TR (%) of 13.9] 381 69.0 83.3 91.3 97.7 72.0
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~29 |30~39 |40~49 | 50~59 | 60~69 | T0~79 | 80~ | AEF(N) | LK (%)
Al 1 38 80 115 66 15 0 315 21.8
B2 0 7 76 274 408 241 79 1,085 75.0
C 0 0 0 3 13 15 10 41 2.8
D 0 1 1 0 1 1 1 5 0.3
ZE (N 1 46 157 392 488 272 90 1, 446 100
AT RAEE(N) 0 8 77 277 422 257 90 1, 131 78. 2
AT R (%) of 17.4 49.0] 70.7| 86.5 94.5 100 78.2
<ZtE>
~29 |30~39 |40~49 | 50~59 | 60~69 | 7T0~79 | 80~ | AEF(N) | b (%)
Al 1 18 37 47 49 17 3 172 23.8
B2 0 3 19 101 235 153 36 547 75.6
C 0 0 0 1 1 1 2 5 0.7
D 0 0 0 0 0 0 0 0 0
ZE (N 1 21 56 149 285 171 41 724 100
AT RAEEN) 0 3 19 102 236 154 38 552 76. 2
AT R (%) 0| 14.3] 33.9 68.5 82.8 90.1] 92.7 76. 2
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<ZtE>
~29 |30~39 |40~49 | 50~59 | 60~69 | T0~79 | 80~ | AEF(N) | LK (%)
Al 0 0 0 1 5 0 0 6 30.0
B2 0 0 0 5 6 2 1 14 70.0
C1 0 0 0 0 0 0 0 0 0
D 0 0 0 0 0 0 0 0 0
S H(N) 0 0 0 6 11 2 1 20 100
AT RAEE(N) 0 0 0 5 6 2 1 14 70. 0
AT RAEHR (%) 0 0 of 83.3 54.5 100 100 70. 0
Dl sME2
<BE>
~29 |30~39|40~49 | 50~59 | 60~69 | T0~79 | 80~ | AEF(N) | LK (%)
Al 1 2 5 20 27 7 0 62 25. 1
B2 0 0 5 16 110 42 0 173 70.0
C1 0 0 0 0 3 6 0 9 3.6
D 0 0 0 0 1 2 0 3 1.2
ZoE (N 1 2 10 36 141 57 0 247 100
AT RAEE(N) 0 0 5 16 114 50 0 185 74.9
AR RAEHR (%) 0 0 50 44.4| 80.9| 87.7 0 74.9
<ZLtE>
~29 |30~39 |40~49 | 50~59 | 60~69 | 7T0~79 | 80~ | AEF(N) | b (%)
Al 2 2 9 20 46 15 0 94 37.5
B2 0 0 0 17 93 44 0 154 61.4
C1 0 0 0 0 3 0 0 3 1.2
D 0 0 0 0 0 0 0 0 0
ZE (N 2 2 9 37 142 59 0 251 100
AT RAEE(N) 0 0 0 17 96 44 0 157 62.5
AR RAEHR (%) 0 0 0| 45.9] 67.6] 74.6 0 62.5
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~29 [30~39[40~49|50~59[60~69|70~79| 80~ | AFEF(N) | K (%)
1E i 0 38| 135 138 79 9 1 400 18. 4
N IR A AR 0 3 411 103 229 106 29 511 23.5
7T 1 8| 135 373 493 196 48 1, 254 57.7
B 77— 0 0 0 0 0 0 1 1 0.0
HEB BRI 0 0 0 0 1 1 0 2 0.1
Z DA 0 0 0 1 1 2 2 6 0.3
N F 1 49| 311|615 803| 314 81 2,174 100
<ZLtE>
~29 |30~39[40~49|50~59[60~69|70~79| 80~ | AFEF(N) | K (%)
1E i 1 31| 125 165 81 18 1 422 23.1
IR A AR AR 0 4 72| 346 387 174 42 1,025 56. 1
TT— 0 1 17 86| 154 91 25 374 20.5
B 7 —7 0 0 1 1 0.1
HEB BRI 0 0 0 0 0.0
D, 0 0 0 4 0.2
7N & 1 36| 215 597 625 283 69 1,826 100
@2 BAM Ky
<BMH>
~29 [30~39[40~49|50~59|60~69[70~79| 80~ [&EF (N) [HEE (%)
1 & 1 39 81 115 66 15 0 317 10. 7
IR A AR 0 1 29| 107|207 150 65 559 18.8
7T 0 10 93| 443 830 521 193 2, 090 70. 3
B 77— 0 0 1 0 1 0.03
HEB B IR 0 0 0 1 1 0.03
D, 0 0 0 2 4 0.1
N 1 50 203 665 1,104 688 261 2,972 100
<ZtE>
~29 |30~39[40~49|50~59|60~69|70~79| 80~ |[&E} (N) [HEE (%)
1E i 1 18 37 47 49 17 3 172 13.0
IR S AR AR 0 1 6 33 98 85 21 244 18. 4
7T 0 2 22| 132 373 303 75 907 68. 6
HEB BRI 0 0 0 0 0 0 0 0 0
Z DA 0 0 0 0 0 0 0 0 0
N E 1 21 65| 212| 520 405 99 1,323 100
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<ZtE>
~29 [30~39[40~49|50~59[60~69|70~79| 80~ | AFEF(N) | K (%)
1 0 0 0 1 5 0 0 6 21.4
IR A AR AR 0 0 0 2 0 1 1 4 14.3
7T 0 0 0 4 9 4 1 18 64. 3
B 77— 0 0 0 0 0 0 0 0
HEB BRI 0 0 0 0 0 0 0 0
F D, 0 0 0 0 0 0 0 0
NF 0 0 0 7 14 5 2 28 100
Dl sME2
<BE>
~29 [30~39[40~49|50~59|60~69|70~79| 80~ |&EF (A) |t (%)
1E i 1 2 5 20 27 7 0 62 12.7
IR A AR 0 0 2 6 64 32 0 104 21.3
7T 0 0 3 28| 184 104 0 319 65. 4
B 77— 0 0 0 0 1 0 1 0.2
HEB BRI 0 0 0 1 1 0 2 0.4
D, 0 0 0 0 0 0 0
N 1 2 10 54| 276 145 0 488 100
<>
~29 [30~39[40~49|50~59[60~69|70~79| 80~ |&EF (N) |t (%)
1E i 2 2 9 20 46 15 0 94 24.6
N IR A AR AR 0 0 0 6 43 19 0 68 17.8
7T 0 0 0 201 129 71 0 220 57.6
HEB BRI 0 0 0 0 0 0 0 0 0
Z 0 0 0 0 0 0 0 0 0
N F 2 2 9 46| 218 105 0 382 100




